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Integers

1. Write down the temperature shown on each thermometer :-

a @—I—!—!—!—!—I—HIIIIIIIIIIIIII} b %llllllllllllllllll)
10°C -5°C 0=C 5°C 10°C —40°C =I0°C oC e 40°C

2. a The temperature last night dropped from 3°C 1o -5°C. %:
By how many degrees did the temperature drop ? _ _é' ?
b Two hours ago the temperature read -1°C. R
The temperature has risen by 8°C. :

1

What is the new temperature ?

3. a My bank balance showed -£35. T withdrew £25. How much does my account now show ?
Ed's account shows (-£3550). He deposits £1650. What does his account show now 2

4. Which integer is halfway between :-
a -12and 14 b -1land13 ¢ -111and 113.

L. Write down the temperature that is :-

a 8% down from 2°C b 5% up from-3°C ¢ 18°C down from -11°C.
2. 4°Cis 6°C up from -2°C. Copy and complete :-

a  3°Cis v from -3°C b B is v from -1°C

¢ -H°CHs e, from -20°C d -23°Cis e from -57°C.

3. A chemical freezing unit starts at -3°C and drops 8°C every hour.
What is the temperature after :-

a 3 hours B 5 hours c 85 hours ?



Integers

L

a
d
9
i
il
P

Find :-

2+(-1)
(-1)+ 3
165-23
(-3)-1
(-5)+ (-5)
(-2)+4-6

L

Copy and complete :-

2. Find -

a 3-(-4)

d (-2)-(1)

9 (-23)-(-34)
3. Find -

L

Find :-

a 3Ix(-1)

d
g 16+(-2)
]
m

(-6)x 3

(-60)= 6
(-3)x2 x5

L

Find :-

a (-2)x(-3)

d (-3)x(-3)

9 (12)=(-4)
i (-23)x(-30)

b
e

h
k

n

q

S

a

A

B+ (-4)
(-3)+6

37 - 58
(-12)-5
(-8)+ (-3)
(-1)+ 1+ (-1)

R

5 - (-7)

e (-6)-(-3)

h (-123)- (-234)

= == 0o o

=

= == 0 o

(14)- (2:3)

B x(-3)
(-5) = 4
24 = (-3)
(-124) = 4
Ix(-1)x2

(-5) x (-3)
(-7) % (-6)
(-18) = (-5)
(-250) = (-50)

== =] _— = = [x]

8+ (-3)

(-9)+3

123 -141

(-B&)- 23

(-134) + (-166)
(-23)+ (-12) - 17.

/"

(b -3-(

2))
-3+2

k\_ nmaaaa

C
f

-_— = = 0

= O

12 - (-12)
(-11) - (-12)
(-100) - (-100) - 100.

(-5:7) - (-68).

B = (-8)
(-7) x4

45 - (-5)
(-312) = 3
6x3x(-2).



Answers

Exercise 0.3

-3°C
g°C
—£60
1

TR -
B B R R

Exercise 9.4

l.

2
3.

a 46°C

. a 6°Cup

a -27°C

o o oo

b 2°C

b 6°Cdown ¢ 9°Cup

b —43°C

-28°C
7°C
—£1900

¢ -29°C

¢ -71°C

d 34°C down

Exercise 9.5

1. al
e 3
i -18
m-10
q -1

Exercise 9.6

a 6f

a 7

g -3

1 -100
a 0-9

Exercise 9.7

l.a -3
e =20
i -9
m -30

Exercise 0.8

l.a 6
e 42
i 5

ER -

Hh

- e

oo oo

6
-4
~11

=52

1-1

-15
-28
-10
-6

15
31
690

(r]

=20 <l -]

i 1]

-8
-17
-290

24
11

-64
-8

-31
~36

LR -]

h -21
1 -79
p -4

d -18

1 -104

Ll =2 =W
lua ND



Algebra

Exercize £

1I

Multiply out each bracket -

a  3u+4) b Tly-3)
& Hye2) ¥ Mk-3)

i -BgeB)  §  -4{2ts8)
m oefyeT) m -h{h-3)

Write down th area arsd perimeter
of this rectangle :-

o uwsing brackets
b without brackets.

1. Multiply sut the brackets and simplify fully where necessary -

Blks2)+ 3
Be2(re3)

Bw= 1)+ 2[we1)

Y fwn d) o 2(2 = w)
3p+ 2(4p- ) - (%p+ 12)

Brecking Brackets

™

&=

E{2k + 5) d 1ley-T)
ofJu+ 4) h 3ir-4)
-5{j - 2) I -2(3f-8)
2wiZwel) p  -5k(3 - 4K)

...::::::::::::::::::..___.

Sari 4

Braaking Brackets and Simplifying

B2y + 4) -12

11- 33 = w)

42y - 3) + B4y + 3)
A3y + 4) - 25y-1)-18

€ T(le-2)+11
¥ 18- g+ 15]
i 2Are 3-8

BlE-2m)+ 3(Zm=B)-a{l - Bm]+ 2m=T.

2. Caloulate the shaded
area of the rectangle
shown, in terms of y

2 -1

il 2y

By- 8



Algebra

co)
m Solving Equations g

: 8

Copy each equation and solve to find the value of x:-

a x+6=11 B x+1=23
d x+14=-14 e x-7=8
g 13+x=17 h 9+x=7

e x+7=6
f x=-3=2
b Vl<=x=<1.

Copy each equation and solve to find the value of the letter :-

a 4x=12 b 5p=35
d 3h=33 e 4g=56
g 4m=144 h 6¢=9

¢ 6k=24
f 7n=0
i 8d=1

Find the value of x in the following equations (Set down ALL your working).

a 2x+6=14 b bx+4=29
d 3x+1=31 ¢ 4x-8:=16
g 10x-9=41 h 3x-6=0

J 6x-3=12 k 8x+12=15

()
m Harder Equations %

Copy and complete :- a Bicid =tenid
*(You may have been shown i’ ng 1 =-
a different method) => X =i
= %

Solve these equations :-
a bx+4=2x+19 b 3x+7=x+11
d 4x-5=x+16 e 1llx-1=2x+17

These equations are a little "different”. Solve :-
a bx=4x+3 b 3x=x+44
d 12x=8x+1 ¢ 16x=3x+18

¢ 4x+7=39
f 7x-11=3

i 1lx-7=37
I 9x+1:=43.

7x-3 =x+1b
— Y & .
= 7x
=> K S

¢ 8Bx+6=T7Tx+22
f O6x-4=4x+23.

¢ Tx=4x+42
f 6x-2:=8x

Joe bought 5 bags of marbles. Harry bought 3 bags. but he already had ‘06

20 loose marbles. They then had exactly the same number of marbles.

a  Make up an equation to show this information.

Yo
L STV

b  Solve the equation to determine how many marbles there are in a bag.



Solutions

Exercise 2 - Breaking Brackets

1. a 3x+12 b 7y-21
¢ 10k+25 d 66y-77
€ y:+2y f k2-3k
g 3ut+12u h 92-12r
i -3¢-15 j -8t-24
k -5j+10 | -6f+16
m-y:-Ty n -h%+3h
o -4w?-2w p -15k+20k2

2. a A=2x(3x+4) b Az6x2+8x

Exercise 3 - Breaking Brackets & Simplifying
1. a 5k+13 b 16y+20c 21¢-3
d 2t+14 ¢ 2-3w f -g
g Sw-1 h 28y+3 i 8r
j 0 k 2y
| 2p-24 m 30m
2. A=2y(5y-8)-y6y-1)=10y2-16y-by2+y
A= 4y2 - 15y



Solutions

ths Exl

I.T__?H'#

W e - W

R Y.

o [ ¥ R i = |
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Harder EguaTiond

thS Ex?2

a 8
Z a 5

[,

b
v

T

f

T

2d
-1

22

e 18

15 f

1"4-

d
4 a 8

b

Jx+ 20



Angles
‘m Complementary & Supplementary Angles

Calculate the mlamng angles in each of the folluwmg -

43°
29
e f g h
3 ~_ 86 128°
115°
i j
r all angles equal
all equal angles
2.  Write down the complement of :-
a 60° b 20° e 37 d 1°
3.  Write down the supplement of :-
a 30° b 110° e T d 95"
4.  What angle is its own :- a complement b supplement ?

5. What is the sum of all the angles round a point ¢



Angles
m Angles Round a Point

1. Calculate (do not measure) the sizes of the angles marked a. b. ¢. ..

a -] c d
118° | 118° o0°| 125° Gl 180°_—.
. b ¢ / 115° d
h

o T g

17
L
el
L]
o
[ ]
=
s
=)
L]
T

e] 130°
62%) 38°

20"

i 121
EE = EISE

2. Anarrow lands on a target as shown.

Calculate the size of the shaded angle.

This clock shows a time of 1.30.

Calculate the size of the shaded angle.

4. Five angles round a point are 39° 122° 777, and two unknown equal angles.

Find one of the unknown angles.



Angles
m Vertically Opposite Angles

1. Worite down the sizes of all the angles marked with a 3 .

a b €
ar
-—._._‘___‘_'_‘_‘_‘_‘_‘
)
e f g h
[
355"
91° 161-5°

2. Sketch all the diagrams above and fill in all the missing angles.

m Angles in a Triangle

1. Calculate the size of the angles marked a. b. c. ........

a b c d
a 3% e” 51° 43"
Iﬂ
al-D
407 .
b 75° 65"

e f g h

& o 4]]" f - h -]
320 110°
Fii i 70°




Anales

2. Copy each diagram below and fill in all the missing angles :-

[P ENA

3. Copy each diagram below and fill in all the missing angles :-

a b
MDD\/IEEE
48"
Vi

m Angles Mixed Exercise

1. Copy all the diagrams below filling in all missing angles :-

a b c

d
28 .
47" 131
390
g h

146°

39°,

1



Answers

Anzwerz te Chapter 3

Exercise 1 - Complementary & Supplementary Angles

L ag®
143
o
30°
a 150°
45
Jo0®

o = & O

LN ke Lo pa

b

T
J

b
b
b

73* ¢ &I°
65° g 94°
225°

70° ¢ 5%
70° ¢ 103°
a0

Exercise 2 - Angles Round a Point

1 a 1247
e 130°
1

2. 108°

b
f

]

145° ¢ 85°
°0° g 90°
171°  k 41°

d
h

47"
52°

g
17o-5°

135
&0*
12®

3. 457
4 el°

Exercise 3 - Vertically Opposite Angles
1L o l40° b &7

e 91°

f 161-5°

2. See drawings
Exercise 4 - Angles in a Triangle

1. a o0°
e S@°
2. a 54°
c 45°
3 a

S5 1407
143%°37° !

B 70°
f 30°
i
45

c 94  d 166°
g 90°  h 355
c 40° d B
g 78  h 40°
b 475° 475

d 60°, 60°, 60°

b

3?7143'

Exercise B - Mixed Exercise

¢ 152°
g B88°

1 = 51°
e 39°

——._

— _E?’

b 43°
d41% F 90°

b 65°

123"

d 49°
h 7&°

407 45° 136"
EF

55"

B4°
Q5"

14



More Angles

sy

Corresponding Angles %

1. Copy ond complete :-  Corresponding (F) angles are e......

2. Copy the diagrams and mark all the corresponding (F) angles with a *

NN A

3. Write down the sizes of all the angles in the following diagrams :- (LABC = 85°).

a b b K -
B P E-/ N
-
/Q E /C R /
15"
&o5° -
C
A p - T K

H

C B

4. Sketch each of the following and fill in all the missing angles :-

b €
»-— f \ 14 165° /

A
N

Alternate Angles g

1. Copy and complete :- Alternate (Z) angles are e.......

2. Copy the diagrams and mark all the alternate (Z) angles witha™*

NN

15



More Angles

3. Write down all the sizes of the angles in the following diagrams :- (e.q. 2ABC = 69°).

v
a A c B P € W
¥]
X
/\/ E T
u
& E K
133°
w T
5
4. Sketch each of the following and fill in all the missing angles :-
a i I:- € /
' T42 - 150

- [
75 /

m Mixed Exercise %

1. Make a neat rough sketch of each of the following diagrams.

Fill in all the missing angles.

a b - d

54_0
135 i
65°
47

2. Sketch each of the following and fill in all the missing angles :-
b

e
> o~

16



More Angles

1. a What size of angle is complimentary to 34° ?

b Worite down the supplement of 85°.

2. Make a neat sketch of each diagram and find the value of each letter :-

=
5P
.
d f
= msf/' /’L
5" /
7 w7
g h
-
110° /
y"l
7I° N
i J

A AT
WARVAR Gl DEa NS




Answers

C
H
p us/.“-
€5 JII5"
115 Jese
-
i b &
4 a b

- - -
|.m‘\;3- "4‘!;“,;_";- '.--rllf,hfna'

165"

C

114"
Chte Ex2
L equal

2 check diagrams
3 a

Ahlternate Angles

the Ex1

L

3

equal
2 Check diagrams

a

Corresponding Angles

Chét Ex3 Mixed Exercise

L a 4I° b 160®
c B4°, 126" 126° d 505" 505

2 a

Ch & Revisit - Review - Revise &

L a 5 b 95

2 a 3 b 37T c Il5°
d 425 e 81° f 52°
g 48 h 107 i TO°
j oA

Ch & Cumulative Ex 2 (Chopters 1-&)

L a @ b 169 c 81
d 11 g 2

2 small 90p per 50g, lurge 30p per 50g
large tin iz cheaper

3 a 60 b 1

4 2,35 7.11,13,17, 19,23 29

B 2x2x2xBxT

6. a y=4x-1 b y=-x-5

7. a & b 7 c 3
d 1 g 2 f -5

8 a =x«8 b =4 C xzx4

9 a ==107 b y=-l2z®

100 1 didlii - 25000 splinkiis

18



Volume

1. Copy and complete :-

2. Use the formula to calculate the volume of the following cuboids :-

-~ -

a

Bom

Jom

b

Cube

4 cm

O cm

3. Find the total velume of each of the following shapes :-

a

B cm

b

< Oy

f,f’4:m

O cm

3ocm

& om

10 om

10 em

8cm

4. Calculate the length of the missing edge of each of the following cuboids :-

a

Vol = 210 cm?®

#om

Vol = 1000 cm?

20 cm

10 cm

19



Answers

Anzwers to Chapter 12
Exercise 1 - Volumes of Cubes & Cuboids

1 V=LxBxH

2 a 0em® b 64cem® ¢ 108 cm?
3 a 10Mdem?®b B72 ocm’
4

. a 7 cm B 5em

20



Statistics
m Bar Graphs & Line Graphs i

1. A group of children were asked to name their favourite drink.
The results are shown in the bar-graph below. . .
Favourite drink

]
[==]

a How many children chose :-
() Cola (i) Orange
(i) Water (iv) Irn Bru

(v) Lemonade ? e
b List the drinks in order '

of most to least popular.

]
s

%]
o

l

]

Number of Pupils
DA\

¢  How many children were Cola  Oronge Water ImmBru Lemonade
asked in the survey ? Dindk

2. A primary b class were asked about the towns they had visited.

~
London Inverness Carlisle Mewcastle Leeds Liverpool
& B 3 7 1 5]

Draw and label a neat bar graph to show this information.

3. Pupils in the Primary 7 classes were asked to name the most commonly used vowel.

The table shows their list of answers, ~

a Moake a frequency table and use AEAEIOCUAEEEEEE
tall ks t lete it VW I 4 E 4 EI OWUVA4dTETETEE
ally marks To complete I EEUIAEAEIOUALEE

b Draw and label a neat bar graph EEEEEEWVIAAOQE0®O E
from your frequency table.

4. The line graph SIh{IWS ’rh.e height of a . i Plant Erowth
plant over a period of time. |

a How tall was the plant after :- = /]
() 4weeks (i) 5weeks % . 4,/;
(i) 9 weeks (iv) 7 weeks ? 3 /J—'

b On which week was the plant :- 2% /1
@ 35cm () 40 cm tall ? - #c[f

¢ One week the plant was not given k: 15 6 7 8 O -
any water. Which week do you think it was ? weeks

d Estimate the height of the plant at 81 weeks.



Statistics

5.

The line graph shows the number of tickets Saturday Funfair

sold each hour at a Saturday Funfair. 70
a How many tickets were sold :- JII,-'II
L+
() otl0am (i) atllam /

a
pd
—
|~

(iii) ot 12 noon (iv) at5pm?

K

b What was the main peak
time (most tickets sold) ?

Tickets sold
=

.
[=]

¢ Between which two times 30 "

was there the biggest "?

increase in ticket sales ?

. ] Dam [lem noon lpm Zpm 3pm 4pm Spm

d Why do you think the ticket sales Time

dropped af ter two o'clock ?
Another p!ﬂnts h&tlgh']’ was recorded Week 4 - 25 om Week 5 - 30 cm
over a period of time.

Week 6 - 35 Week 7 - 40
Use the information from the table == < = e
shown to draw a line graph. Week 8 - 50 cm Week 9 - 65 cm
The comparative line graph Can Sales
shows the sales of Orange 100 |
and Cola from the tuck shop. !
T oy i

a Which drink sold better in :- E 'u"

() January (i) March E 60 .:: R - '

e ] ! '
(i) April  (iv) June? : 2 ”’:F ..... Sz N
£ a vd

b How many cans of Cola 3 ol el

were sold in :- Cola

(i} January (i) June? 0

Drec Jan Feb Mar Apr May Jun
¢ How many cans of Orange Month
were sold in total ?

This table shows & months of car sales
from two different car dealers, |
Arnold Clunk and Reg Barney.

Jul Aug Sep QOct Mov :}EC]

) ) Clunk's | 100 250 300 250 400 200
Construct a comparative line graph

to show thisz infermation.

Barney's| 300 200 350 450 100 150




C+ntictire

m Interpreting & Drawing Pie Charts %

L___J
it 0|

1. A class surveyed the most popular schoolday and favourite subject.
The results are displayed using the pie charts below.

Mon
Favourite
Frud Thu
Schoolday
Wed
Tue
B S S

a Whrite the classes’ favourite :-

Fawvourite

Subject

(i) schoolday

(i) subject.

b List the favourite days in order, from most popular.

¢ List the favourite subjects in order, from least popular.



Statistics

2. The pie chart, which has been split into 10 sections,
shows the results of a class survey into favourite
lunchtime places to eat.

a What fraction of the class chose :-
@ Chip Van (i)  Home School
(i) MNone (v) School.

b List the places in order, from most popular

to least popular.

3. Look at the pie chart in question 2.
B0 pupils were asked their favourite lunchtime place.

a How many pupils does each individual section stand for ?

b How many pupils chose :-
(i) School (ii) Chip Van (i) Home (iv) Mone ?

4. This pie chart has been divided into 20 equal parts.
a  What fraction does each part stand for ?

Faveurite Super hero

b What fraction represents :-
(i' Superman (i} X-Men
(iii) Spiderman (iv) Batman ?
100 people were questioned in the survey.

¢  How many people does each small
section represent ?

d  How many people chose :-
(i) Superman (i) X-Men
(i) Spiderman (iv) Batman ?




Statistics )
m Mean and Range J

1. The range (= highest - lowest).
For each set of data, find the RANGE of numbers :-
a 7,9 8 12, 6, 15 8 7,610 10, 12, 5 9, 11
b 73. 57,44 11, 33, 8, 26. 1. 4, 2. 74, 16, 1b, 7.

2. Find the mean of -
a B 10 12 14 B 14 EBOD, 23, 41, 62, BO
e €2 £h €£B £26 £20, £1L d 21em, 1003 em, 76 em. 41 cm, 30 em.

3. Ten boxes of matches have their contents counted.

It is found that they contain the following number :-

&0, 62, 64, 62, 65, &1, 63, 60, &4, 64,

Work out the range.

Caleulate the mean number of matches.

¢ The Match Company claim that each of their
boxes should contain an average of 63 matches.

_._._._'_'_.___,_,_.--—-J

Is the company's claim correct ? (Explain)

4. Tom sat two mental tests (each out of 10). His mean score for the tests was 6.

If Tom scored 9 in the first test. what must he have scored in the second ?

Median & Mode %

1. Find the mede for each set of data :-

a 112 35813721 34.bb b 3.2.1.8.45,927.60
¢ 17,2316 323 37,29 d ACFGHYTEDDGHEG

2. For each set of data, find the MEDIAM :-
(Make sure you put the numbers in order first)

a b 6,6 7.8 9 9 10 11 b 16, 18, 18, 20, 24, 26. 28, 32
¢ 17.9 3.9 9. b 7,13, 11. 16,16, 9. 9 7.1 1 17. 1b. 13, 13. 7.



Statistics

3. Find the mean, median, mode and range of each set of data :-
a 10,12,14,15,16,19,.22,23.23 b 46,31.66,73,83,43, 16,66
¢ 411412 6.7.11.13.9.1 d All the prime numbers between 30 and BO.
4 = 3 -2 B -2 > The mean weight of 4 boxes is 75 kg.
\ ., Y g \ A 2 \ N\ i B< Three of the boxes each weigh 85 kg.
\L & v " What is the weight of the fourth box ?

Stem & Leaf Diagrams g

—
P |

1. The stem and leaf diagram shows the ages of

people in a post office queue.

Peoples’ Ages

a Write a key for the diagram. o 212 2 6 9

b Write down all the ages. - 3o 4 5 6

¢ How old was the youngest person ? &, A 410 1 1 12 4
d What was the modal age ? o

e Find the median. afo 3

2. For each set of data shown :-

() Construct an ordered stem and leaf diogram.

(i) Find the mode and median.

a Ages of mature students at a University.

23 42 27 v 20 60 29 33 26
al 39 27 26 42 a7 26 a9 42
20 51 43 44 2a 46 42 27 a2

43 33 26
23 29 29
30 30 42

b Distances (in metres) jumped from a standing position.

162 1-23 1-41 1-13 Q-27 1-31 1-23
1-33 129 1-12 1-23 119 1-36 1-33
a-9 12 1-51 1-03 1-66 1-53 1-44

1-26 1-3
1-08 1-23
1-23 1-32




Statistics

3. a Draw anoerdered back to back stem and leaf diagram showing the details about
how far (in centimetres) 51 and 52 pupils could jump from a standing position.

51 148 156 172 181 160 157 164 132 184 146 157 13%
52 182 174 138 145 173 162 15% 175 167 173 144 130

b Find the modal and median heights of == (i) 51 (i) 52.

¢  Write a few sentences comparing the mode and the median of both groups.



Answers

Chl2 Ex1 Bar Graphs & Line Sraphs 4 a () 20cm (i) 30cm

L a (i) 12 (i) 8 (i) 14 (i) 50 cm {i¥) 35 cm
(iv) 28 ) 18 b (i) 67 (i) 8
b IrnBru. Lemonade, Water. Cola, Crange c 6 d 45cm
c &0 5 a () 60 (i) 50
2 (i} 55 (iv) 35
" Ty Visited b 2pm £ 1-2pm

d later - =0 less time on rides.

‘ Plant Cerowih

l
|

T
|
=

Lombm  bvesss Cakbe  Sewoath = Lsverpun } ¥ /
L owm .

3 a A-11, E-28, I-6,0-5U-6 x i

Vowels Dired

ad E:
2 L
__1 24 b
=]
"
® / 7. a (i) orange (ii] orange
Ifs £ i
b ﬁ (i) cola  {iv] orange
-_5_ . b (i) 20 (i) 80 £ 380
- a3
__%:_ Zm/ m//m//n Car Sales
4 E 1 o !
Wowel . &
£
_J' ]

Number af oarn madt
H w
)
-
-
=
-
N,

o)

Mootk



Ch 12 Ex4 Interpreting & Drawing Pie Charts
L a (i) Friday (i) Maths
b Fri, Wed, Mon, Thu, Tue
£ Maths, PE, English, Science, Music
2 a (i) Z2hg=Yg (i) e
(iii) L0 (iv) *10=%s
b School, Home, Chip van, none
3 a 5
b (i) 20 (i) 10
(i) 15 (iv) 5
4 a liag
) 920 (i) %20 =210
(iii) Brag =ty (iw) Zrag =1/
c 5
d (i) 45 (i} 20
(iii) 25 (iv) 10
g
Ch1? Ex 5 Drowing Pie Charts with a protractor
L a Indian /35 B4® Chinese %/30. 72*

Answers

French B/3g. 607

British 12/3p, 144°

b
2 a Apple 16 1842 137"
Orange 10 18/4.  B&°
Bamnana 6 By 51"
Flum 6 Bign 51°
Pear 4 Hga 34°
b
Ch 12 Ex 6 Mean & Range
L a 10 b 73
2 a 11 b 40
¢ £12 d Tcm
3 a 5 b 625
£ Mo-625:63
4 3

Ch12 Ex7 Median & Mode

L a1l b 2
c 23 d &

2 a 8 b 22 c 9

3 a mean- 171 median - 16 mode - 23
b mean -53 medion - 56 mode - 66
¢ mean - 78 medien - 8 mode - 1
d 31 37, 41 43 47

mean - 3-8 median - 41  mode - none

4 45 kg

Ch 12 Ex & Stem & Leaf Diagrams

L a 314 means 34 years cld

b 22,22 26,29 30, 34, 35 36,40,
41,41, 41, 42, 44 52, 60,63
c 22 d 41 e 40



Answers

Chl12 Ex& Stem & Leaf Diagrams

L a 314 means 34 years old
b 22,22,26,29, 30, 34,35, 36, 40,
41. 41, 41, 42, 44,52, 60, 63
c 22 d 4l e 40

2 a (i) with key
2| 03356666T7T7T7TR999

005579

2222234567

0129

0

L SO o | I S

(i) mode - 42, median - 35
b (i) with key
oslo7
M |38
Il |259
12033333609
Mi|1369
14|14
15 |o123
16|26

(i) mode - 1-23, median - 1-26
3 a with key

92 |13 | B

a8 (14) 46

¥T¥a 16| 09
40 (&) 27
2 |IT| 3466
41 |18)] 2

B (i} 5I: mode- 157, medion - 15T
(i} 52 : mode - 175, median - 164-5
¢ both averoges are higher for 52
(but they are older and probably taller)



Patterns

1. &ive arule for each of these sequences -

d

[T
Sequences & Patterns ﬁ

(begin with " sfart at ... and then __.%).
2.5 8 11, 14, . b 7. 13, 19, 25, . c

98, Bl. 64, 47, . e 3, 9 27 81 . f 1. 6. 36, 216. _.

2. Write down the next two numbers in each sequence from question 1.

3. Find the next two numbers in each sequence :-

a 7.9 11, 13, __ B 5 9 13 17, . c 24, 22 20, ..

d 70, 58, 46, 34, e 1 3 9 ... f 2.4, 8 16, ..
4. Shown is the pattern for square mumbers. o oo ggg gggg

Write down the first 12 square numbers. O OO0 BEES

8. A pattern of numbers is defined as -

(2x3). (Ix4) (4=x3). (3x6) .

23, 20, 13, 10, _

Write down the - a 10" term b 1000%™term ¢ n™Mterm
m Simple Lincar Patternsz g
1. Each door has six window panes.
Mo. of Doors [ D) L 2 3 4 B
a Copy ond complete the table. Mo o Panez (7) A 1= S = 5
b Eﬂwﬂr'd mlﬂfﬂ L
the formula - P= ... = D icesby: ——®™ & & 7 # 7
¢  How many panes would there be in 11 doors ?
d How many doors are there if there are 78 panes ?

2. For the tobles below -

L

(i) complete each one construct a formula.

(i)

Mo. of toys and price b Mo. of seconds and no. of mimurtes

T 1 Z 3 4 B [a] M 1 z 3 5 B )
P 2 18 2Tr - - - = &0 120 180 _ - -
Pz .. xT S= ..xM

Mo. of pentagons and no. of vertices d Mo, of tobles to legs

31



Patterns

3. Lmmear Graphs - For each of the tables below -

() complete each table

(i) toke each pair of numbers as coordinates

construct o formula

(i1}

(iv) plot on a coordinate graph

(v) drow a line through the points and label the line with your formula.

b

1 2 3 4 &
2 4 &6 . .

Harder Lincar Patterns %

1. Look at the pattern shown. \/ \/\ \/\/ L if i "_-.

31

d

Copy and complete
the table shown.

Copy and complete the formula for the above pattern -

1 tricrmghe triangle 3 friangle 4 fruangle
perimeter 3 pn:rl-r.h:r-'l permeter 5 permeter &

Moo of triamgloss [(T) 1 Z 3 4 b 6
Perimster (F) 3 4 5 -

Find the perimeter of the pattern with 21 triangles.

Find the number of triangles if the perimeter is 27.

2. For each of the tables below -

(i) complete each table

= | o 1 2 3 5

¥ |3 8 7 @

= | o z 3 B

¥ | -2 2 7

= |- -1 o1 3 I
¥ -4 -2 0

W)
[

constroct a formula.

32



Ch4 BExi
L

Answers

LG -hm OLh O a

Seguences & Patterss

start at 2 then add 3
start at ¥ then add &
start at 25 then subfract 5
start ot 98 then subfract 17
stort at 3 then times by 3
start at | then times by &
ir 20 b 337
30,13 e 243 725 f

c 50
1206, TTT

3 a 1517 b 2125 c 18 16
d 22,10 e 27, 81 f 3264
4 14,9 16,25, 36,42, 64, 61, 100, 121, 144
5 a =12 B MOlx1002 ¢ (n+l)x{n+2)
Chd4 Ex? Simple Linear Patterns
L a 12 3 45 a
612 1824 3035
b FPzAD c 68 d 13
2 a 12 3 45 8
Q1B 2T 364554 P-QT
b1 2 3 4 5 &
60 120 180 240 300 360 5= G0M
c 1 2 3 45 6
5 10 15 20 25 30 V= 5P
d 12 3 45 &
Alo24 324048 L=BT
3 a 012 3 45 04
0369121518 ¥= 3x
check linear diagrarm
b 012 3 45 6
024 6 81012 ¥z 2x
check linear diagrarm
Chd4 Ex3 Harder Lincar Patterns
L a 12 3 45 a
145 &6 T B
b P=Ts2 c 23 d 25
2 a 012 3 465
3579 1113 y=2x+3
b 012 3 45
567 8 210 ¥rx+3
c 012 3 45
214 7 10 13 y=dx-2
d 012 3 465
-l 49 14 1924 y=5x-1
e -2-l0 1 2 3
-G-4-20 2 4 y-éx-2
f-2-101 2 3
-13-114 3 1017 y=Tx-4

33



The Clr'cle (No Solutions)

Exercize 1 e
ancga

1. Calculate the circumference of this circle with diameter 12 cm. a
Copy and complete : - = £ =nb
5 Co314x12 '
= L= e ML
2. Showing 3 lines of working for each case, calculate the
circumference of each of these circles :-

(a) O (b) O I o (c)

: Calculate the circumference of the alloy
15 inches R .
l wheel-trim shown opposite.

4. Calculate the circumference of each of these circles, showing

',-'uur 3 lines of working each fime :- .
. . (E]

A semi-circular doorstep has a diameter of 1-5 metres.
Calculate the perimeter of the doorstep.
1 5m

&.  Colculate the perimeter of both shapes :-
(a) (b)

EOm

- 200m —= TS mm



The Circle (No Solutions)

Find the diameter of the circle /
with circumference 78-5 cm.

c \'
p=£ |
Copy and complete - S \ /
= [D=—
314
= = -

Calculate the diameter of each circle below :-
(You must set down 3 lines of working)

(k) ()

b

o

£ = 5966 cm

For a circle with circumference 65-08 cm, calculate its :-
(o) diameter (b) radius.

The circumference of a tyre from a child's foy motorbike
is 7-859 centimetres.

Find the radius of the tyre.

This CD has an outer circumference of 40 centimetres.
The hole has a 0-5 centimetre radius.

Calculate :-
(a) the radius of the Ch.

(b) the circumference of the hole.



Gradient (No Solutions)

1. Copy and complete

the formula - VEP e distance

gradient =

................ . distance

2. Write the gradient of each {as a fraction) and simplify fully :-

a b €

2m 10m 4m

lém

4 m

3. a Write the gradients of each of the fellowing hills :-

15m IZ2m

Ant Hill Bee Hill Cedar Hill
SHEE i SRS
20m 1Bm 10m

b Change each of your fractional answers in part a to a decimal.

¢ List the gradients in order (steepest first).

4. Find the gradient of each of these ladders:

a b €
4 o
Ladder 4 ::: Ladder £ ::::
:': TEm :':' Tm
= T L1
BEm Im




Area (No Solutions)

ra
[
—
(¥}
(%]
3\

ﬂ_=5"r
?EEH
S g2 % g
- \% ]
g %%uﬁ
- = g
= g'-a_l-fi
g R

=t

d % f
e %
7 ,4""-'* 10 cm
2 cm %
10 cm
. lculate the area of carpet needed for each of these bal




Area (No Solutions)

3. Sketch each right angled triangle (roughly, but using a ruler).

Use the formula, A= 1 (L x B) to calculate the area each time.

20 cm
10
cm I\ 13 cm V

Qcm
c
24 om 16 cm

4. This corner shelf is in the shape of a right angled triangle.

32 cm

Calculate the area

of the triangle.
20 cm




Area (No Solutions)

2. Use the formula  Area = % (1xb) each time to calculate the areas of the

following triangles (make a neat sketch of each triangle) :-

b

Qcm

3. Which of the two sails from a yacht
has the bigger area and by how much is

it bigger than the other one ? .
il

Sail A

4m




Area (No Solutions)

1. a Calculate the area of the big rectangle (A).
b Calculate the area of the small rectangle (B).

¢ Calculate the total area of the shape.

8 em T cm

SRR
// B 3 cm
Tem A
2. For each of these :- (i) Make a neat sketch.

(i) Calculate the area of each part (show working).
(i) Calculate the area of the whole shape.

25 em Eﬂm% §L\c%mm '5'~‘rm

20 m

]
3 m———— =

12 cm



